¥68ay %#*?&4

SRE KR

ERRE

O B
1EEE =Zf% 4—0 @ER
A BR 2| =& 9—2 &M
s =% 6—0 EHIF
w o =ik 9-—8 Ak
[ 57 ] [ Z+ ]
1454 1500m 307 MRt 1 4E4c+- 800m A7 [0 E 5
b bt 24 F-1500m  3f/7 J\EEIS 2441 800m  AfE KETLNE
HEH - 3000m 3f7  BkKBKE 34ELF 100m  4fr bR
M@+ 200m 447 BRSO
1R =% 5—0 ™ Y —7 1B 1Ry YEER
. . 2 = 9—-0 K& = 0—0 fEFH
KT B ey — e S 1-5 EE
= o4—1 M
1A B RS&
Kt Speh o3 mmh
. . 1 [F] R A % =
HF ARl o (20—-25. 22—25)
2 Al =Rk 2—0 HEH 3z
3 [ = 2—1  BdrHES TS L N oY S N R
LA NL—R—b RV —27 Zfkh 1 —2 HIH KD & HITHINRE TS ML
=RE 00— 2 g AR, HHCeERS
ik 2—1 KiEwY (2 H
1 [A15 =&t 88 —44 SRT
2 Al =Mk 79 —30 #
A INAI R WY —27 =kt 104 —47 HEZE
= 87 —41 K&
N =Wkt 75 —50 HtefE B
&) —7
g - B @-1 ACKH - dai( )
. _ - 82 @-1 KYIE - ARCIME)
HEITETZ2 s g 2o 1
1R A -3 @-3  AJI - PR)HOIN)
2[EHg - B 3-@  (Ld - RKGHEME)
[EAN#] Be s t16
7124 AANET®EY — 27 R - ERST @-2 KR - EAS ()
\ _ WA - HHT @-0 FRE - HE (FEH)
EFYTRT=2 0 ps Wl h—F A b 1R B - BHAT @3 - Bow (3)
2 A - WEST 0-@ R - AR ORER)
[ 51 1] [ %7 ]
R ARTRA 1 RIERGE HITAHT 1 EIERGER
KIFBEAR 3 FEHEHGE (XA 16) AR 3EHEE (XA KM16)
\ CEZEIN
fliE LMK — A BE AT O 1 [
BrEE B
o -G alTiL% NI (A
BN B M s
LA EAN 240 Il A3




NEIV by

[ B+ 1]
(k) PiEh—F A b

1A =2 — 1 =
2 ek =H% 2 — O {FR
N A
B1RE &1 —-2KE
Eo2RE w2 —1KE
BIRE =3 —-0HIM
YEMERE JUNREHE)
AN TNz
EFEREN 1 [RIERRGR
2T A

TV - FIRA 3
U k2 H35)

S LA - R EESA N1 6

A - [ =~ - 16

[ &+ 1]
(&) FE&h—JF A2 b

1[EH =% 2 — 0 T ilfirhss
2mE =0 — 2 KiE
2 MG A K 8
(HA) > 7=
KOG 1 [AIERHGR
BORFES 1 [RERIGR
2T I A

TPRF A - JHHEBE A N1 6

[5+] (7]
([H1£) (FAA)
1[EHE = 4—1 =IHHAK Al =3 — 0 =
2m# =% 2—3 HE¥T Y =% 3 — 1 HIRE—
2 [Al R R s =R 3 — 2 EwfME
AN 7Nz fa R OuNREHS)
M B4 3 [E] B sGER (\A) o7
EN 2 [l AR HAKEEET XA K16
T =2 bR 2 [AlHER pA PSR C[AlERGE
N #T A WAL XA L16
HalRE - )1 A 1 [EIHRHOR (AN &7 A
B - B 3[Rl H HIREAT -« PpEE XA RS
H - A 3 [E] Bk SOE IR AL - WEBERL  3{r
AT - ot 2[Rl p (JUNR=H)
R I wb =] 2 [l AR RETIEA - BRE <X 18
PROCTA - THHRYE  IRIHRGE
HAEAN - FOHEA A —[IREGER
H i — HHEE 50m. 3051 28/% 100m 1:07.18 19 {7
Exr KRB HBEE200m. 2:0878 3{L 400m 4:2950 147
KESEAE HEF200m, 22777 51{¢ 800m 10:40.77
IKEK ARG k&1 00m, 1:1888 61r 200m 2:4431 4fr
ARt XX 774 100m, 1:40.69 14{7 HMAEES5O0m 3743  33fr
RO HBHHEES5O0m, 3655 3017
KA2E A HHS5 0m, 38.77 77 HIKX100m 1:39.62 24 i
(B+] AR (&Y —2) (Z+] FfE (FY) —2)
= & 3—2 x5 (O) = K 1—-1 tx5  (A)
R 3 -2 = & (X) HEAK2—1 = & (X)
X % 3—2 = & (X) KES 1—2 = B (O)
= & 2-—2 fR ¥ (A) KCAHE 27 Bl
. MBS SN MR
*iE A LA
55keik  fEHE wm A 1 [AIERHMGR 40ke#lk  EE BHEx B 3L
RASREDE 2 [AHSOR 44keflk  /NHAKEE H 1AL
60kegfk  LPEEEAREE 2 [A[HRKGR 63kefk HE B 3L
T3keifk  IAEE TR 247
90kefk FEIL  Futh 2 [AIERHBGR




